FERNZ / Components
No. # ¥R / Part name #=E / Pcs #ME / Material - RE AL / Color-Finish
1 |IL—L 4 T ILSIRH A A6063S-T5 DIWIN=TILRAb, TF9ITILIA
0 Frame Extruded aluminium A6063S-T5 Silver , Black = Anodized
30 2 |a—F—Javs 4 | ABSHilE ULoaHB SAFTL—, T595
Corner block ABS UL94HB Light gray , Black
3 |a—F—Fvvy7 /Blind plug 8 ISRLY / TPE SANTL—, TFvY
Light gray , Black
4 INAIAFHIRFIL / Slide panel 1 7 JLZE#R / Aluminium A1050P t=1.5 AT 5L ILIN—TF LAk / Silver * Hairline brushed & Anodized
7 ILEHR / Aluminium A1100P t=1.5 TS5y « %L / Black = Painted
5 RCIEH/NHRIL / Screwed panel 1 7 LR / Aluminium A1050P t=1.5 ATSAY)ILIN—TF LAk / Silver = Hairline brushed & Anodized
P FILEAR / Aluminium A1100P =15 | I 5v% - #4 / Black - Painted
g 6 |EITER (M4 x 15 FR) 16 &% =flionA—t
Screw (M4 - 15 Pan head) Steel Trivalent chromate
7| BAFER (M3 x 5 FE{tH) 4 % Sy ZfiRo0A—k
Screw (M3 - 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate
8 | /"KL / Carrying handle 1 TILEIRH A A6063S-T5 EZRBTSVIT LA LFRMDILA—T LA
Extruded aluminium A6063S-T5 Silver , Black = Anodized
9  |BATER (M4 x 10 FNSW{F) 2 % =ffiyRit—k
Screw (M4 - 10 Pan head with spring washer) Steel trivalent chromate

8
9 ﬁ&
4
Pz
3
7
2
6
5
1
&
¥ il
fn4a/Title
TAKACHI| #HXS#HShFEHRIE NURLavka—ILRYS R © |:]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CONTROL BOX with CARRYING HANDLE
@,&ﬁ(*”%iﬁ%lﬂ) 7 Golor Type(End of product number]) R/ Approved %X /Checked #IX/Created R /Product number RFE/Scale
k(4=
585 / Code | /S#%JL / Panel | IL—.Ls / Freme| 3—7}— / Corner I\>KRJL / Carrying handle FCH8-30-2001
GS < JLiN— / Silver < )LiN— / Silver SArJ'L— / Light gray < JLiN— / Silver x iR - 1/5
BB IS4 / Black 54 / Black 594 / Black 5% / Black fEpE/Date 2017/04/10




JL—L 18] / Framel side

TL—L38] / Frame3 side

'\.
o
N
— L,
o
Q
} 1
A A
S Ho
=— B
TL—L248] / Frame?2 side
A-A(1:35)
/\I)‘;‘&H/\c’*)lxﬁ?jlﬁif / Slide panel MAX dim. 260
, BTk / MAX dim. 254 .
| |
¢ =y I
I ® ® I %
D = —lEq‘ -

RLIESH/ARILEZNTiE / Screwed panel MAX dim| 254

TL—LA4A] / Frame4 side

75.4

INAAFHINRILE RN % / Slide panel MAX dim. 164

B-B(1:35)

BE~TiE / MAX dim. 69

B#TiE / MAX dim. 154

REIEDH/ARILEZN~Ti% / Screwed panel[MAX dim. 154

C: 7L—LHsKE / Frame cross—section

FvkL—JL / Nut rail
ASMFFyhEiE

BFEA T av i RSARF Yk FZ-3 #ANDENHEFETT,

Groove for slide nut

Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRALUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

7R/ Approved

& /Checked

£

A /Title
NURILFavka—ILRY SR @ G
CONTROL BOX with CARRYING HANDLE
#I[X]/Created FIF /Product number RE/Scale
FCH8-30-200] 1:3:5
iR 9 /5

{ER B /Date 2017/04/10




4.05

18.1
8.7

18.1

8.7

19.7

4 | 13.7 JL—L1 / Framel
N
_
— < &
/I 1.8 <
|57 2 o o < o o
. X rs)
;;‘l 2 e
b/ R - :
‘=I-|_$‘/ ‘<_r ~%F — )
<9 | 137 4-M4
2—¢4.5 120
22.7
FwkL—JL / Nut rail
< £ ©
2-M3 5 244 5
L —L2 / Frame2
| ]
e 19 t {
<2 &>
3 e
G ;0 f !

P ) ffa/Title
[TAKACHI] #R&HAHTFEMTE TL—Is1 2 @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Framel , 2
752/ Approved 1% [X|/Checked #IX]/Created B F /Product number RE/Scale
H75.4 — W300 1:2
¥ iR 3 5
{ERL B /Date 2017/04/10




18.1

18.1

8.7

8.7

4.05

19.7
4 | 137

1.2

1.65
e
14.7

&
1.
| 57 3
N
3 s
< 9 137 4-M4

22.7
FvkL—JL / Nut rail

2-M3

QJ

[2)
4

L —.L3 / Frame3

154
: ]
&)
<
™~
[{e]
rsd
2
I i
Q =] _
5 144 5
JL—.L\4 / Frame4
) I |
&3
=)
8 I |
fnd/Title
TAKACHI] #R&tshFERTE JL—13 . 4 @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3 , 4
7 ER/Approved & X]/Checked #IX]/Created R /Product number RE/Scale
H75.4 - D200 12
E thiR 45
YR B /Date 2017/04/10




INAAFHINAIL / slide panel

B Ti% / MAX dim. 260

B3T3k / MAX dim. 160

/|III

I\ JLFKE /Panel Frontside

RC1EH /AL / Screwed panel

A% / MAX dim. 254

1.5

REE—MA
Surface protective film side

NT AV TA
ik GS DH

<tk / MAX dim. 154
I
|
|
I
I
I
I
I

2

|

J\FRJLFRE/Panel Frontside

Hairline brushed direction.
Color type GS only.

1.5

fREES—MMA

Surface protective film side

AT A HH
B GS DH

Hairline brushed direction.
Color type GS only.

2719
|
|
|
|
|
|
|
|
|
|
/\AJLZEE/Panel Backside
4-24.2 2715
| 244 ,
| |
| I L
|
|
|
2 - - - - b
i |
|
|
=S | 25
I\AJLZEE/Panel Backside
fnda/Title A —
TAKACHI| #RXeitshFEHMITE ISR O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7R/ Approved & [X]/Checked #UX/Created #1% /Product number RE/Scale
W300 - D200 13
X iR 5 /5
e B /Date 2017/04/10




